

Suma y resta de fracciones III

Calcula y simplifica cuando sea posible

$$\text{a. } \frac{1}{3} + \frac{1}{5} + \frac{1}{4} = \frac{?}{?} + \frac{?}{?} + \frac{?}{?} = \frac{?}{?}$$

$$\text{b. } \frac{2}{3} + \frac{1}{2} + \frac{2}{3} = \frac{?}{?} + \frac{?}{?} + \frac{?}{?} = \frac{?}{?}$$

$$\text{c. } \frac{2}{3} + \frac{4}{5} - \frac{1}{2} = \frac{?}{?} + \frac{?}{?} - \frac{?}{?} = \frac{?}{?}$$

$$\text{d. } \frac{7}{3} - \frac{5}{2} + \frac{1}{7} = \frac{?}{?} - \frac{?}{?} + \frac{?}{?} = \frac{?}{?}$$

$$\text{e. } \frac{3}{5} + \frac{6}{7} - \frac{1}{35} = \frac{?}{?} + \frac{?}{?} - \frac{?}{?} = \frac{?}{?}$$

$$\text{f. } \frac{3}{20} - \frac{1}{10} + \frac{2}{5} = \frac{?}{?} - \frac{?}{?} + \frac{?}{?} = \frac{?}{?}$$

$$\text{g. } \frac{5}{18} + \frac{2}{9} - \frac{5}{6} = \frac{?}{?} + \frac{?}{?} - \frac{?}{?} = \frac{?}{?}$$

$$\text{h. } \frac{7}{9} - \frac{11}{27} + \frac{1}{3} = \frac{?}{?} - \frac{?}{?} + \frac{?}{?} = \frac{?}{?}$$